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answer: __________________________answer: __________________________

n.	 An ant crawled 86 centimeters,  
	 stopped, and crawled 64  
	 centimeters more. How many  
	 meters did the ant crawl in all?

m.	 Eliza's plant measured 32  
	 centimeters tall. Then her plant  
	 grew 4.5 centimeters more. How  
	 many millimeters tall is her plant  
	 now?

a.	 3.2 m  =  ___________ cm

c.	  ___________ mm  =  8.4 cm

e.	 28 m  =  ___________ cm

g.	  ___________ cm  =  930 mm

i.	 12.6 cm  =  ___________ mm

k.	  ___________ m  =  7,900 cm

b.	 150 cm  =  ___________ m

d.	  ___________ m  =  4,600 cm

f.	 62 cm  =  ___________ mm

h.	  ___________ m  =  570 cm

j.	 340 cm  =  ___________ m

l.	  ___________ cm  =  865 mm

Linear Measurement Conversions
Millimeters, Centimeters, and Meters

1 centimeter (cm) = 10 millimeters (mm)
1 meter (m) = 100 centimeters (cm)

example: 4.5 m  =  ____________ cm  

 4.5 × 100 = 450

450
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k.	  ___________ m  =  7,900 cm

b.	 150 cm  =  ___________ m

d.	  ___________ m  =  4,600 cm

f.	 62 cm  =  ___________ mm

h.	  ___________ m  =  570 cm

j.	 340 cm  =  ___________ m

l.	  ___________ cm  =  865 mm

1 centimeter (cm) = 10 millimeters (mm)
1 meter (m) = 100 centimeters (cm)

example: 4.5 m  =  ____________ cm  

 4.5 × 100 = 450
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ANSWER KEY

answer: __________________________answer: __________________________

126 3.4

2,800 620

320 1.5

93 5.7

84 46

79 86.5

Linear Measurement Conversions
Millimeters, Centimeters, and Meters

1.5 meters365 millimeters

n.	 An ant crawled 86 centimeters,  
	 stopped, and crawled 64  
	 centimeters more. How many  
	 meters did the ant crawl in all?

m.	 Eliza's plant measured 32  
	 centimeters tall. Then her plant  
	 grew 4.5 centimeters more. How  
	 many millimeters tall is her plant  
	 now?


